ORIGINAL ARTICLE



On Characterization of the Exponential Distribution Via Hypoexponential Distributions

George Yanev^{1,2}

Accepted: 23 February 2023 © Grace Scientific Publishing 2023

Abstract

The sum of independent, but not necessary identically distributed, exponential random variables follows a hypoexponential distribution. We focus on a particular case when all but one rate parameters of the exponential variables are identical. This is known as exponentially modified Erlang distribution in molecular biology. We prove a characterization of the exponential distribution, which complements previous characterizations via hypoexponential distribution with all rates different from each other.

Keywords Characterizations · Exponential distribution · Hypoexponential distribution · Exponentially modified Erlang distribution

Mathematics Subject Classification 62G30 · 62E10

1 Introduction and Main Results

Sums of exponentially distributed random variables play a central role in many stochastic models of real-world phenomena. The *hypoexponential distribution* arises as a convolution of *n* independent exponential distributions each with their own rate λ_i , the rate of the *i*-th exponential distribution. It belongs to the class of *phase-type distributions*. Many processes can be divided into sequential phases. If the time periods spent in different phases of the process are independent but not necessary identically distributed exponential variables, then the overall time is hypoexponential. For

This article is part of the topical collection "Special Issue: AISC-2021 Special Collection" guest edited by Tahani Coolen Maturi, Javid Shabbir, and Arman Sabbaghi.

George Yanev george.yanev@utrgv.edu

¹ School of Mathematical and Statistical Sciences, University of Texas Rio Grande Valley, 1201 W. University Dr., Edinburg, TX 78539, USA

² Institute of Mathematics and Informatics, Bulgarian Academy of Sciences, 8 Acad. G. Bontchev St., Sofia 1113, Bulgaria



Fig. 1 Absorption time for a Markov chain with five states

example, the absorption time for a finite-state Markov chain follows this distribution (Fig. 1).

We will write $X_i \sim \text{Exp}(\lambda_i), \lambda_i > 0$, if X_i for i = 1, 2, ... has density

$$f_i(x) = \lambda_i e^{-\lambda_i x}, \quad x \ge 0 \quad (exponential \ distribution).$$
 (1)

The distribution of the sum

$$Y_n = X_1 + X_2 + \cdots + X_n \sim \text{HypoE}(\lambda_1, \lambda_2, \ldots, \lambda_n),$$

where λ_i for i = 1, ..., n are not all identical, is called (general) *hypoexponential distribution* (e.g., [1] and [2]). Assume that all λ_i 's are distinct, i.e., $\lambda_i \neq \lambda_j$ when $i \neq j$. It is well known that under this condition, the density of Y_n is given by (see [3], p.309 and [4], p.40, Problem 12) for x > 0

$$f_{Y_n}(x) = \sum_{j=1}^n \ell_j f_j(x), \qquad \lambda_i \neq \lambda_j, \ i \neq j.$$

Here the weight ℓ_j is defined as $\ell_j = \prod_{i=1, i \neq j}^n \lambda_i (\lambda_i - \lambda_j)^{-1}$. Thus, the density of the sum of independent exponential random variables with distinct parameters is linear combination of the individual densities. For example, the density of Y_2 is

$$f_{Y_2}(x) = \frac{\lambda_2}{\lambda_2 - \lambda_1} f_1(x) + \frac{\lambda_1}{\lambda_1 - \lambda_2} f_2(x), \quad \lambda_1 \neq \lambda_2.$$

Let X_1 and X_2 be two independent copies of a nonnegative random variable X and $E[X] < \infty$. If $X \sim Exp(\lambda)$, then $X_1 + X_2/2 \sim HypoE(\lambda, 2\lambda)$. It was proved in [5] that this property of the exponential distribution is not shared by any other continuous distribution, i.e., for $\lambda > 0$

$$X \sim \operatorname{Exp}(\lambda)$$
 iff $X_1 + \frac{1}{2}X_2 \sim \operatorname{HypoE}(\lambda, 2\lambda)$. (2)

Deringer

The key argument in the proof is that the Laplace transform (LT) of the exponential distribution with $\lambda > 0$

$$\Phi(t) = \frac{\lambda}{\lambda + t}, \quad t \ge 0 \tag{3}$$

is the unique LT solution of the equation

$$\Phi(t)\Phi\left(\frac{t}{2}\right) = 2\Phi(t) - \Phi\left(\frac{t}{2}\right), \quad t \ge 0.$$

Motivated by (2), in [6] we extended it in two directions: (i) for any number $n \ge 2$ of independent copies X_1, X_2, \ldots, X_n of X and (ii) for the linear combination

$$\mu_1 X_1 + \mu_2 X_2 + \dots + \mu_n X_n$$
 $\mu_i \neq \mu_j, i \neq j, \mu_i > 0,$

i.e., with arbitrary positive and distinct coefficients $\mu_1, \mu_2, \ldots, \mu_n$. Namely, it was proved in [6], under some additional assumptions, that for $\lambda > 0$

$$X \sim \operatorname{Exp}(\lambda)$$
 iff $\sum_{k=1}^{n} \mu_k X_k \sim \operatorname{HypoE}\left(\frac{\lambda}{\mu_1}, \frac{\lambda}{\mu_2}, \dots, \frac{\lambda}{\mu_n}\right).$ (4)

This characterization was obtained by showing that (3) is the unique LT solution of the equation

$$\Phi(\mu_1 t)\Phi(\mu_2 t)\cdots\Phi(\mu_n t) = \sum_{j=1}^n \bar{l}_j \Phi(\mu_j t), \quad t \le 0,$$

where $\bar{\ell}_j = \prod_{i=1, i \neq j}^n \mu_j (\mu_j - \mu_i)^{-1}$. Thus, the case of the rate parameters λ_i 's in (1) being all different from each other was settled down. Note that characterization results in the case of distinct but not necessary positive $\mu_1, \mu_2, \ldots, \mu_n$ were recently obtained, in [7], under an additional assumption.

The other extreme case of all λ_i 's equal leads to Erlang distribution of the sum. Assume $X_i \sim \text{Exp}(\lambda)$, i.e., $\lambda_1 = \lambda_2 = \cdots = \lambda_n = \lambda$ and let

$$Y_n = X_1 + X_2 + \dots + X_n.$$

If Φ is the common LT of X_i , then for t > 0

$$\Phi_{Y_n}(t) = \Phi^n(t) = \left(\frac{\lambda}{\lambda + t}\right)^n.$$
(5)

If we go in the opposite direction, assuming $Y_n \sim \text{Erl}(n, \lambda)$, then (5) yields $\Phi_i(t) = \lambda(\lambda+t)^{-1}$ for each i = 1, 2, ..., n, which in turn implies $X_i \sim \text{Exp}(\lambda)$. By words, if X_i are independent and identically distributed r.v.'s and Y_n is Erlang, then the common distribution is exponential.

The question arises whether a similar characterization holds when the rate parameters λ_i 's of HypoE $(\lambda_1, \lambda_2, ..., \lambda_n)$ are neither all different nor all equal. It is our goal in this paper to show that, at least in one particular case, the answer to this question is affirmative.

Without the condition that all parameters λ_i 's are different or equal, the hypoexponential density has a quite complex form ([8]). This makes the analysis of the general case difficult. In this paper, we consider the particular case of "all-but-one-equal" rate parameters.

More precisely, let $X_1, X_2, ..., X_{n+1}$ be independent copies of $X \sim \text{Exp}(\lambda)$. Consider the sum

$$X_1 + X_2 + \dots + X_n + w X_{n+1}, \quad w > 0, w \neq 1.$$
 (6)

This sum has a convoluted Erlang distribution, which is also known as *exponentially modified Erlang (EME) distribution* ([9, 10]).

Recall the well-known (e.g., [11], p.240) Cramér's condition. We say that X satisfies Cramér's condition if there is a number $t_0 > 0$ such that $E[e^{tX}] < \infty$ for all $t \in (-t_0, t_0)$. The next theorem establishes, under Cramér's condition, a necessary and sufficient condition for $X \sim Exp(\lambda)$.

Theorem Suppose that $X_1, X_2, ..., X_{n+1}, n \ge 1$, are independent copies of a nonnegative and absolutely continuous random variable X. Assume further that X satisfies Cramér's condition. Then for some $\lambda > 0$, fixed positive integer n and fixed positive real $w \ne 1$

$$X \sim \operatorname{Exp}(\lambda)$$
 iff $\sum_{k=1}^{n} X_k + w X_{n+1} \sim \operatorname{HypoE}\left(\lambda, \lambda, \dots, \lambda, \frac{\lambda}{w}\right).$ (7)

The hypoexponential family of distributions has found use in diverse applied fields, including queuing theory ([12]), population genetics ([13]), reliability analysis ([14]), medicine ([15]) and cell biology ([10, 16]). We focus on a particular member of this family, namely the exponentially modified Erlang distribution. The (proper) Erlang distribution is applied in modeling the cell cycle phase progression as a series of sub-phase transitions with the same rate λ . The relevant biological interpretation of the Erlang model is that each cell cycle phase can be viewed as a multi-step biochemical process that needs to be completed sequentially in order to advance to the next cell cycle phase.

Although the identical-stage model is convenient from a mathematical perspective, it has been shown to be outperformed by a number of other distributions. Particularly, it was shown in [9] that one of the most appropriate distributions for representing cell cycle times is the EME distribution, which models a series of exponentially distributed random variables when one of them has a different rate. Under this assumption, the multistage cell cycle model is described as follows

$$X_1 \xrightarrow{\lambda_1} X_2 \xrightarrow{\lambda_1} \cdots X_k \xrightarrow{\lambda_1} X_{k+1} \xrightarrow{\lambda_2} 2X_1.$$
(8)

Note that, in the system (8), the rate of progression is identical through each of the initial k stages of cell cycle and that we have added an additional exponentially distributed

stage at the end whose rate, λ_2 , is distinct from the rate, λ_1 , of the previous *k* stages. Assume that the characteristic time (CT) of one of the transitions is significantly bigger than the CT's of all other transitions. Assume also that the CT's are independent. Then the overall cell cycle time distribution may be approximated by the EME distribution capturing both the relatively rapid transitions and the slow transition (see [9]). Using the density convolution formula, for the density of (6), it is not difficult to obtain

$$f_{EME}(x) = \frac{\lambda}{w} e^{-\lambda x/w} \left(\frac{w}{w-1}\right)^n \left[1 - \frac{\Gamma(n, (w-1)\lambda x/w}{(n-1)!}\right],$$

where $\Gamma(n, t) = \int_{t}^{\infty} u^{n-1} e^{-u} du$ is the complementary incomplete gamma function.

In Sect. 2, we present some auxiliary results. We prove the Theorem in Sect. 3. The last section includes some concluding remarks.

2 Auxiliary Results

Due to the independence assumption, the LT of (6) equals $\Phi(wt)\Phi^n(t)$. If Φ is given by (3), then $\Phi(wt)\Phi^n(t)$ is a product of linear fractions and we can decompose it into sum of the Laplace transforms of wX and X. Denote

$$\Phi_1(t) := (w-1)\Phi(wt) \text{ and } \Phi_2(t) := \frac{w-1}{w}\Phi(t).$$
(9)

Lemma 1 The following identity holds

$$\Phi_1(t)\Phi_2^n(t) = \Phi_1(t) - \sum_{k=1}^n \Phi_2^k(t).$$
(10)

Proof Without loss of generality, assume that $X \sim \text{Exp}(1)$. Note that the following linear fraction decomposition holds

$$\frac{w-1}{(1+wt)(1+t)} = \frac{w}{1+wt} - \frac{1}{1+t}.$$
(11)

Recalling that $\Phi(t) = (1 + t)^{-1}$, notation (9), and multiplying both sides of (11) by (w - 1)/w, we obtain

$$\Phi_1(t)\Phi_2(t) = \Phi_1(t) - \Phi_2(t).$$

This proves (10) for n = 1. Assuming that (10) holds for n, for the (n + 1) th term we have that

$$\Phi_1(t)\Phi_2^n(t)\Phi_2(t) = \left[\Phi_1(t) - \sum_{k=1}^n \Phi_2^k(t)\right]\Phi_2(t)$$

Deringer

$$= \Phi_1(t)\Phi_2(t) - \sum_{k=1}^n \Phi_2^{k+1}(t)$$

= $\Phi_1(t) - \Phi_2(t) - \sum_{k=2}^{n+1} \Phi_2^k(t)$
= $\Phi_1(t) - \sum_{k=1}^{n+1} \Phi_2^k(t),$

which proves (10) for any n.

Lemma 2 Let *n* be any positive integer and $v \neq 1$ be a real number.

(*i*) For any integer $j \ge 1$

$$v\sum_{k=0}^{n-1} \binom{k}{j-1} v^k + (v-1)\sum_{k=0}^{n-1} \binom{k}{j} v^k = \binom{n}{j} v^n.$$
 (12)

(ii) For any integer $j \ge 2$

$$\left(\frac{v}{v-1}\right)^{j-1} v \sum_{k=0}^{n-1} v^k + (v-1) \sum_{k=0}^{n-1} k v^k \neq n v^n.$$
(13)

Proof .

(i) The left-hand side of (12) is equivalent to

$$\begin{split} &\sum_{k=0}^{n-1} \binom{k}{j-1} v^{k+1} + (v-1) \sum_{k=0}^{n-1} \binom{k}{j} v^k \\ &= \sum_{k=0}^{n-1} \left[\binom{k}{j-1} + \binom{k}{j} \right] v^{k+1} - \sum_{k=0}^{n-1} \binom{k}{j} v^k \\ &= \sum_{k=0}^{n-1} \binom{k+1}{j} v^{k+1} - \sum_{k=0}^{n-1} \binom{k}{j} v^k \\ &= \sum_{k=1}^n \binom{k}{j} v^k - \sum_{k=1}^{n-1} \binom{k}{j} v^k = \binom{n}{j} v^n. \end{split}$$

(ii) Using (12) with j = 1, for the left-hand side of (13), we obtain

$$\left(\frac{v}{v-1}\right)^{j-1} v \sum_{k=0}^{n-1} v^k - v \sum_{k=0}^{n-1} v^k + v \sum_{k=0}^{n-1} v^k + (v-1) \sum_{k=0}^{n-1} k v^k$$

Deringer

$$= \left[\left(\frac{v}{v-1}\right)^{j-1} - 1 \right] v \sum_{k=0}^{n-1} v^k + nv^n$$
$$= \left[\left(\frac{v}{v-1}\right)^j - \frac{v}{v-1} \right] (v^n - 1) + nv^n \neq nv^n.$$

Remark It is not difficult to see that (12) can be generalized to

$$v \sum_{k=0}^{n-1} \binom{k+m}{j-1} v^k + (v-1) \sum_{k=0}^{n-1} \binom{k+m}{j} v^k = \binom{n+m}{j} v^n, \quad (14)$$

where m is any nonnegative integer.

3 Proof of the Theorem

It follows from Lemma 1 that if $X \sim \text{Exp}(\lambda)$, then (10) holds true. We will proceed with the proof of the opposite direction in the claim. The case where n = 1 is a particular case of (4) included in [6]. Let $n \ge 2$. Consider the function Ψ with the following series expansion

$$\Psi(t) := \frac{1}{\Phi(t)} = \sum_{j=0}^{\infty} a_j t^j, \quad t > 0.$$
(15)

Note that, as a consequence of Cramér's condition, the above series is uniformly convergent in a proper neighborhood of t = 0 (see [11], p.240). To prove the theorem, it is sufficient to show that for some $\lambda > 0$

$$\Psi(t) = 1 + \lambda^{-1}t,$$

i.e., the coefficients of the series in (15) are

$$a_0 = 1, \quad a_1 = \lambda^{-1} > 0, \quad a_j = 0, \quad j \ge 2.$$
 (16)

Clearly,

$$a_0 = \Psi(0) = 1. \tag{17}$$

It follows from (9) and (10) that

$$\frac{(w-1)^{n+1}}{w^n}\Phi(wt)\Phi^n(t) = (w-1)\Phi(wt) - \sum_{k=1}^n \left(\frac{w-1}{w}\right)^k \Phi^k(t).$$
 (18)

🖄 Springer

Dividing both sides of (18) by its left-hand side and changing the summation index, we obtain

$$1 = v^{n} \Psi^{n}(t) - (v - 1) \Psi(wt) \sum_{k=0}^{n-1} v^{k} \Psi^{k}(t),$$
(19)

where, for notational simplicity, we set v = w/(w - 1). To calculate the coefficients a_j for $j \ge 1$, we differentiate both sides of (19) with respect to t at t = 0. After differentiating once at t = 0, we have

$$\left[nv^{n} - v\sum_{k=0}^{n-1}v^{k} - (v-1)\sum_{k=0}^{n-1}kv^{k}\right]a_{1} = 0.$$

It follows from (12) with j = 1 that the coefficient in front of a_1 equals zero, and thus, there exists a $\lambda > 0$ such that

$$a_1 = \lambda^{-1}.\tag{20}$$

Differentiating (19) twice with respect to t at t = 0, we have

$$\begin{bmatrix} \binom{n}{2}v^n - v\sum_{k=0}^{n-1}\binom{k}{1}v^k - (v-1)\sum_{k=0}^{n-1}\binom{k}{2}v^k \end{bmatrix} a_1^2 + \begin{bmatrix} nv^n - \left(\frac{v}{v-1}\right)v\sum_{k=0}^{n-1}v^k + (v-1)\sum_{k=0}^{n-1}kv^k \end{bmatrix} a_2 = 0.$$

Lemma 2 with j = 2 yields that the coefficient in front of a_1^2 is zero and the coefficient in front of a_2 is not zero. Therefore,

$$a_2 = 0.$$
 (21)

It remains to prove that $a_j = 0$ for all $j \ge 3$. We will need the general Leibniz rule for differentiating a product of functions. Denote by $y^{(j)}(x)$ the *jth* derivative of y(x); $y^{(0)}(x) := y(x)$. Define a multi-index set $\boldsymbol{\alpha} = (\alpha_1, \alpha_2, \ldots, \alpha_n)$ as a *n*-tuple of nonnegative integers. Denote $\|\boldsymbol{\alpha}\| = \alpha_1 + \alpha_2 + \cdots + \alpha_n$ and $\Lambda_j := \{\boldsymbol{\alpha} : \|\boldsymbol{\alpha}\| = j\}$. The *jth* derivative (when exists) of the product $y_1(t)y_2(t)\cdots y_n(t)$ is given by (e.g., [17])

$$\frac{\mathrm{d}^{j}}{\mathrm{d}t^{j}}\prod_{i=1}^{n}y_{i}(t) = \sum_{\Lambda_{j}}\left(\frac{j!}{\alpha_{1}!\alpha_{2}!\cdots\alpha_{n}!}\prod_{i=1}^{n}y_{i}^{(\alpha_{i})}(t)\right).$$
(22)

Let us write Λ_i as union of three disjoint subsets as follows:

$$\Lambda_j = \Lambda'_j \cup \Lambda''_j \cup \Lambda'''_j,$$

where

 $\Lambda'_{j} = \{ \| \boldsymbol{\alpha} \| = j : \text{ only one of } \{\alpha_{1}, \alpha_{2}, \dots, \alpha_{n} \} \text{ equals } j \text{ (others are zeros)} \}$

🖄 Springer

$$\Lambda_{j}^{\prime\prime} = \{ \|\boldsymbol{\alpha}\| = j : \text{ exactly } j \text{ of } \{\alpha_{1}, \alpha_{2}, \dots, \alpha_{n}\} \text{ equal } 1 \text{ (others are zeros)} \}$$

$$\Lambda_{i}^{\prime\prime\prime} = \{ \|\boldsymbol{\alpha}\| = j : \text{ there is an index } \alpha_{i} \text{ with } 2 \le \alpha_{i} < j \}.$$

Notice that by definition, $\Lambda_{j}^{"}$ is not empty only if $j \leq n$.

We will proceed by induction with respect to the index $j \ge 2$ of a_j . For j = 2, we have already proved that $a_2 = 0$. Assuming $a_i = 0$ for $2 \le i \le j - 1$, we will show that $a_j = 0$. Since $a_0 = 1$, applying (22), we obtain

$$\frac{1}{j!} \frac{\mathrm{d}^j}{\mathrm{d}t^j} \Psi^n(t)|_{t=0} = \sum_{\Lambda_j} \left(\prod_{i=1}^n a_{\alpha_i} \right) = \sum_{\Lambda'_j} (\cdot) + \sum_{\Lambda''_j} (\cdot) + \sum_{\Lambda''_j} (\cdot)$$
$$= \binom{n}{1} a_j a_0^{n-1} + \binom{n}{j} a_1^j a_0^{n-j}$$
$$= na_j + \binom{n}{j} a_1^j.$$

Notice that $\sum_{\Lambda_i''} (\cdot) = 0$ by the induction assumption. Also,

$$\frac{1}{j!} \frac{\mathrm{d}^{j}}{\mathrm{d}t^{j}} \Psi(wt) \Psi^{k}(t)|_{t=0} = \sum_{\Lambda_{j}} \left(w^{\alpha_{k+1}} a_{\alpha_{k+1}} \prod_{i=1}^{k} a_{\alpha_{i}} \right) = \sum_{\Lambda'} (\cdot) + \sum_{\Lambda''} (\cdot) + \sum_{\Lambda'''} (\cdot)$$
$$= \left[w^{j} a_{0}^{k} a_{j} + \binom{k}{1} a_{j} a_{0}^{k-1} a_{0} \right] + \left[\binom{k}{j-1} a_{1}^{j-1} a_{0}^{k-j+1} w a_{1} + \binom{k}{j} a_{1}^{j} a_{0}^{k-j} a_{0} \right]$$
$$= \left[\binom{k}{j-1} w + \binom{k}{j} \right] a_{1}^{j} + \left(w^{j} + k \right) a_{j}.$$

Therefore, differentiating (19) *j* times at t = 0 and grouping the coefficients in front of a_1^j and a_j , we write

$$\begin{bmatrix} \binom{n}{j}v^n - v\sum_{k=0}^{n-1}\binom{k}{j-1}v^k + (v-1)\sum_{k=0}^{n-1}\binom{k}{j}v^k \end{bmatrix} a_1^j \\ + \begin{bmatrix} nv^n - \left(\frac{v}{v-1}\right)^{j-1}v\sum_{k=0}^{n-1}v^k - (v-1)\sum_{k=0}^{n-1}kv^k \end{bmatrix} a_j = 0.$$

It then follows from Lemma 2 that the coefficient in front of a_1^j is zero and the coefficient in front of a_j is not zero. Therefore, for all $j \ge 2$

$$a_j = 0. \tag{23}$$

Now, (17), (20), (21) and (23) lead to (16), which completes the proof.

🖉 Springer

4 Concluding Remarks

In this paper, we continue the study of the relation between the exponential and hypoexponential distributions, initiated in [5] and extended in [6]. The obtained characterization complements those in the above papers. Here we deal with a situation where the rate parameters λ_i 's in a convolution of exponential variables are not all different from each other. The obtained result is of interest itself; however, it can also serve as a basis for further investigations of more complex compositions of the rate parameters.

The exponential distribution is well known as a lifetime model in reliability theory. In particular, its use as a probability model for failure times of system's components is well justified. Thus, it is important to assess goodness-of-fit of the exponential distribution for a data set prior to applying the exponential model. Characterization results often serve as a useful device in obtaining goodness-of-fit tests. The presented here characterization can be used for testing the validity of a model based on the exponential distribution.

Acknowledgements The author acknowledges the valuable suggestions from the referees and the editor.

Declarations

Conflict of interest The author states that there is no conflict of interest.

References

- Li K-H, Li CT (2019) Linear combination of independent exponential random variables. Methodol Comput Appl Probab 21:253–277
- Smaili KH, Kadri TH, Kadry S (2016) Finding the PDF of the hypoexponential random variable using the Kad matrix similar to the general Vandermonde matrix. Commun Stat Theory Methods 45:1542– 1549
- 3. Ross SM (2019) Introduction to probability models, 12th edn. Academic Press, New York, NY, USA
- 4. Feller W (1971) An introduction to probability theory and its applications, vol II, 2nd edn. Wiley, New York
- Arnold BC, Villaseñor JA (2013) Exponential characterizations motivated by the structure of order statistics in sample of size two. Statist Probab Lett 83:596–601
- Yanev GP (2020) Exponential and hypoexponential distributions: some characterizations. Math MDPI 8:2207
- Rastegar R, Roitershtein A (2023) On a characterization of exponential and double exponential distributions. REVSTAT, to appear
- Jasiulewicz H, Kordecki W (2003) Convolutions of Erlang and of Pascal distributions with applications to reliability. Demonstratio Math 36:231–238
- Golubev A (2016) Applications and implications of the exponentially modified gamma distribution as a model for time variabilities related to cell proliferation and gene expression. J Theor Biol 393:203–217
- Yates CA, Ford MJ, Mori RL (2017) A multi-stage representation of cell proliferation as a Markov process. Bull Math Biol 79:2905–2928
- 11. Borovkov AA (2013) Probability theory. Springer, London
- Bekkeer R, Koeleman PM (2011) Scheduling admissions and reducing variability in bed demand. Health Care Manag Sci 14:237–249
- Strimmer K, Pybus OG (2001) Exploring the demographic history of DNA sequences using the generalized skyline plot. Mol Biol Evol 18:2298–2305

- Kadry S, Kadry T, Khaled S (2015) Markov modeling for reliability analysis using hypoexponential distribution. In: Kadry S, El Hami A (Eds.) Numerical methods for reliability and safety assessment: multiscale and multiphysics systems, 1st edn., pp. 599-620. Springer
- Dowling CV, Cevaal PM, Faria M, Johnston ST (2022) On predicting heterogeneity in nanoparticle dosage Math. Biosciences 354:108928
- Gavagnin E, Ford MJ, Mort RL, Rogers T, Yates Ch (2019) The invasion speed of cell migration models with realistic cell cycle time distributions. J Theor Biol 481:91–99
- Thaheem AB, Laradji A (2003) Classroom note: a generalization of Leibniz rule for higher derivatives. Int J Math Educ Sci Technol 34:905–907

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Springer Nature or its licensor (e.g. a society or other partner) holds exclusive rights to this article under a publishing agreement with the author(s) or other rightsholder(s); author self-archiving of the accepted manuscript version of this article is solely governed by the terms of such publishing agreement and applicable law.